M = O & A Al A
2024 T =0 A UBHS|H| SXE 2D}
A 2XFY
I 2R ZMSEH(AESX/JIZNELE)
SRl MASSBIIZMHESE CEEEED
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
STF 47,691,196 37,888,649 9,802,547
2 29,500,269
2 696,616
[ 4,536,387
Al 11,254,081
== 1,703,843
20D ZMEERH(AS SR/ )| ZMEEH) 33,791,180 23,978,628 9,812,552
2 26,772,156
= 130,290
< 3,355,930
Al 3,532,804
MASE) | ZMESIF 33,791,180 23,978,628 9,812,552
2 26,772,156
2 130,290
[ 3,355,930
Al 3,532,804
MASE Aol n=H| X 24,000 18,000 6,000
301 LBHEXZ 24,000 18,000 6,000
02 ABIEREAHZ(FAUS, XILH) 24,000 0 24,000
OASl u=l| X 300, 00080 24,000
DEFHISHI|QSXY 38, 160 36,000 2,160
301 LetE A 38, 160 36,000 2,160
02 ABIEREAFH 2 (FAHS, XILH) 38, 160 0 38, 160
O+3N BSTH BSHII2 X
5,300 *600 Al Ci 122 38,160
(2)&AH20d 33,115,033 23,371,725 9,743,308
2 26,492,027
< 3,311,503
Al 3,311,503
301 LetE A 33,115,033 23,371,725 9,743,308
2 26,492,027
< 3,311,503
Al 3,311,503
01 ABIEREAFHZ(RDEZHL) 33,115,033 23,371,725 9,743,308
OdA=N 33,115,033,00024*14! 33,115,033
2 26,492,027
[ 3,311,503
Al 3,311,503
DESHXIH(2IHEEXI) 69,690 30,680 39,010
308 RHXIEHHISOIA 69,690 30,680 39,010
08 WSIIZUHEHER 69,690 30,680 39,010
Ons=0 69,690, 0002 * 14! 69,690
(2)HAEHS0 202,661 187,886 14,775




2AM:

.

S IR E 2 (Ctol: ®2))
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 162,129
= 14,186
Al 26,346
301 LEHEES 202,661 187,886 14,775
= 162,129
< 14,186
Al 26,346
01 Al 2& X262 (2 NEXTHR) 202,661 187,886 14,775
Odf A M= 202,661,000+ 14! 202,661
= 162,129
< 14,186
Al 26,346
(B)a=g0l 110,500 110,523 A23
= 110,500
301 LEIEES 110,500 110,523 223
= 110,500
01 Al 2EEGIZ(FDEZWE) 110,500 110,523 A23
OFRYR ol X (HHI)
110,500,000& *14] 110,500
= 110,500
(AT EAIZE X2 20,000 20,000 0
s 10,000
< 3,000
Al 7,000
201 LBt2 | 11,280 10,280 1,000
[ 5,640
< 1,692
Al 3,948
01 At2t2lH] 11,280 10,280 1,000
ONBIZZINY 22|
10,280,000&*14] 10,280
s 5,140
< 1,542
Al 3,598
OSeARIZ2IA DS
1,000,000 141 1,000
s 500
= 150
Al 350
202 Ol 2,000 0 2,000
[ 1,000
< 300
Al 700
01 =LHOHI 2,000 0 2,000




2AM:
PSEYR
[=2an i}

S

S B SRI(BH) - HRAY - BAS

dEE
Ofl &b oK

OSEAtIZtel AL 04t

2,000,000 14

SRRES

=

2,000
1,000
300
700

Mo

6,720
3,360
1,008
2,352

6,720

11 AAMHIXRAS

OCtut 7|

500,000& *12&

60,0002 12&

Mo

=

Mo

=

6,000

6,000
3,000
900
2,100
720
720
360
108
252

6,000

720

(2)SEAHIZEIA X

Mo

=

4,320
2,160

648
1,512

6,360

2,040

202 Gidl

Mo

=

4,320
2,160

648
1,512

6,360

2,040

01 =LHGIBI
O0d|
— 2L 04|

20,00021+6 2 *3%x 122

Mo

=

4,320
4,320
4,320
2,160

648
1,512

6,360

2,040

(RS0 *EE sAUl~

Mo

=

168,816
118,130
15,193
35,493

187,454

/18,638

SRR

84,408
59,065

7,596
17,747

93,727

29,319

01 AtR2te|H]

84,408

93,727

29,319




2AM:

.

e NAS & (Ctol:®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OSHE Aldl2elalel & 23|
84,408,000& 14 84,408
= 59,065
& 7,5%
Al 17,747
301 LBtE2NS 84,408 93,727 29,319
= 59,065
= 7,597
Al 17,746
01 AR 2E X3S (FLEXTHE) 84,408 93,727 29,319
OSHS Atcl2Itia At X2
84,408,000& 14 84,408
= 59,065
= 7,597
Al 17,746
(D)=SXARTHL =22S X2 11,000 10,000 1,000
& 3,300
Al 7,700
201 Let23| 5,500 5,000 500
= 1,650
Al 3,850
01 At22tel] 5,500 5,000 500
O=XARXI g = 2E
5,500,000 14 5,500
= 1,650
Al 3,850
301 LetE2d= 5,500 5,000 500
& 1,650
Al 3,850
02 ALBI2EE LGS (FIAAS, XL 5,500 5,000 500
O=XIARXIN CHatAt XI2H|
5,500,000& 14! 5,500
= 1,650
Al 3,850
(Z)DSAILAOIEIHLEA 12,000 0 12,000
& 3,600
Al 8,400
201 Let23| 12,000 0 12,000
& 3,600
Al 8,400
01 Al 22| 12,000 0 12,000
OLSACIZAOIES THLE A
12,000,000@1% 14} 12,000
= 3,600




SA: SR
M ROD|ZMELII(ABIEX/J|ZLEEN)
R NASSIIZHEISE (crol: ®al)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| Al 8,400
(D) NS AL 2| AIEANS 15,000 0 15,000
= 7,500
[ 4,500
Al 3,000
307 2I2H0| & 15,000 0 15,000
= 7,500
[ 4,500
Al 3,000
11 ALBIZ XA E X 15,000 0 15,000
ODSAOI L 22| Al AL
15,000,000 1Al 15,000
= 7,500
[ 4,500
Al 3,000
FAHS X (ABIEX/FHAHSKIH) 4,880,366 4,327,425 552,941
= 857,664
z 375,129
[ 329,873
Al 2,785,426
= 532,274
S TESNE 4,880,366 4,307,425 552,941
= 857,664
z 375,129
[ 329,873
Al 2,785,426
= 532,274
FAHSXIA 200,920 192,020 8,900
201 LB 9,760 7,060 2,700
01 AFRZH2IHI 4,600 1,900 2,700
O2lz2 APl AAIRIRIS] &AL et
100,0002410H13] 1,000
OXIGAIB| B RE M ASE HIA
7,0002%500H 3,500
OYAIBSA(ZH2|HAN Z2lel I1=]
100,0002 % 12415} 100
02 2229 5,160 5,160 0
OYANESA HIAEE
150,000 % 12 1,800
OAANESA AILEHl S|
1,200,000 %174 A 1,200
OYANESA HEte2H|
12,0002% 180! 2,160
301 LetEda 156,000 156,000 0
02 AFBIEREAF2(FAAHS, L) 156,000 0 156,000




2A:

SAEH

HE: FUHE XA (ABIEXI/FSHESH)
SRl FHUAHNSKA (Crel: & 2l)
SH - EHH . O(3) - NRAIY - BAS Ofl st Gl RS2
OXFAIIHS MAM
100,000 * 130 HICH* 122 156,000
307 BI2H0|& 35,160 28,960 6.200
01 22 ¢ 3=t 35,160 28,960 6.200
OSXIARXIT a4 X
300, 0002+60 18,000
O#AX 25 20,000 *8 % x 122 1,920
O#e{X} ISR o2
100,000 21%20 2,000
OB AR} ZHIHI 1,600, 00024%7 72 11,200
OZANESA 29 2,040,000 %1 A 2,040
ENEERER 136, 110 125,650 10,460
201 LBr2 | 32,750 24,290 8,460
01 A2l 32,750 24,290 8,460
ORXIAIS| BEH Sl AIBZ D Q14
10,00024% 1502 1,500
Ot XA SEHE AIBHE ol
10,00024% 1502 1,500
OXHABI SRS OIM AT & g
100,0002+60Z *43| 24,000
OLZFARISBRIAARIRS] 3|0 £
100,00024+6&*23] 1,200
OANBIEX L B2 TR ATH HIX
90,00024%357H 3,150
OAIBI=X] 222 & 340 =
70,00024%20 4 1,400
301 YBHE A 3,360 3,360 0
02 ALBIBRESH2(FUHZ, XILH) 3,360 0 3,360
OZZ=ANAALS SRS OIX BAK &
140,00024 2 * 122 3,360
307 QI2H0IA 100,000 98,000 2,000
TNEESNEEES 100,000 98,000 2,000
OXIAIS| BRBOIH| 22t ASHEXS HH)
21,000, 00021 % 14l 21,000
OXIAIE] SXI0EI(EES HH)
5,000, 00021% 14l 5,000
ORIZAIBIZXH TS X (2ES HH)
10,000, 0002 * 1Al 10,000
OBHIS H3l(BES HH)
10,000, 00021 %14l 10,000
O8|2Cel LIsHeHE (0ISHE) A XIR(BXE
HoH) 7,000,00024%14! 7,000
02025 IXiE KIAAISSEHE 28 N (22X
Zo) 5,000,000 * 14! 5,000
OZ0I=E IISEXHE X(BX8 HoH)
15,000, 00021 * 1Al 15,000




SA: SREHL
B2 3OS XS (MESX/FHAANSXE)
ol FHAAHSK (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OS=A NEISAA G2 d5 AS(E2E 90%)
8,000
— MRS XA st=U3] i
4,000,000 14} 4,000
—ABIZTIAIS & BAL
4,000,00021%1 4! 4,000
OAEISXIA B=0=H| XIJ(E2XE FHN)
56,0003 250 14,000
OYZA MEISXIAL HISUEI(2XE FoY)
5,000,000 14 5,000
(2)2==X 1,072,080 882,000 190,080
= 857,664
= 107,208
Al 107,208
301 Et2AS 1,072,080 882,000 190,080
= 857,664
& 107,208
Al 107,208
01 AFRIEEE4FS (R NEXTHR) 1,072,080 882,000 190,080
O2le=Al X2A
1,072,080,000&x14] 1,072,080
= 857,664
& 107,208
Al 107,208
(DIABI=X2 S5tAL 20,000 20,000 0
= 6,000
Al 14,000
307 212t01 ™ 20,000 20,000 0
= 6,000
Al 14,000
11 ARRISAIAMEELS 20,000 20,000 0
OAtel= A2t SatAte
20,000,000 * 174 20,000
& 6,000
Al 14,000
(DXLXESE M MEIAS I 355,310 350,000 5,310
= 284,248
& 35,531
Al 35,531
201 et23| 2,000 1,000 1,000
= 1,600
& 200
Al 200
01 Al 22| 2,000 1,000 1,000




2AM:

K ZH

SAEH

FHAAHE XJ(ARIEX/FHLHESXIH)

ol FHAAHSK (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
ONSNE NOIZEXANE =90]
2,000,000 14! 2,000
= 1,600
& 200
Al 200
307 2I2+0| ™ 353,310 349,000 4,310
s 282,648
= 35,331
Al 35,331
05 RIZI?IE = 353,310 349,000 4,310
OXSAL2] MHIASIIANY
353,310,000 14! 353,310
s 282,648
= 35,331
Al 35,331
(2)FHOISHL XA 7,892 13,000 ~5,108
= 6,314
= 789
Al 789
307 212t01 ™ 7,892 13,000 ~5,108
= 6,314
= 789
Al 789
05 RIZI?IE= 7,892 13,000 ~5,108
OFEltSHI XA
7,892,000 14 7,892
= 6,314
= 789
Al 789
MBS 22 1,049,991 941,232 108,759
307 212t01™ 964,541 941,232 23,309
05 RIZI?I& = 964,541 941,232 23,309
OAlEI=XIZ 22|
964,540,580« 1 2~ 964,541
401 AIZHIZL S0 85,450 85,450
01 Al2Hl 85,450 0 85,450
O=X& Jls 2 85,450
—SA2 28 2 NSY+SA
10,650,000 %14 10,650
—=20] WA 74,800,000 % 14! 74,800
HHOIMHY! 15 &= 360 360
201 Let23| 360 360 0
02 S324H| 360 360




2AM:

F M

SAEH

FHAAHE XIA(A

el =X/ HAAHEXR)

R FHAASARA (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OMHPS 2SIt SEFEAAE U] ALS
30,000_4*12% 360
(D)MASS AHLYLH2XH 570,000 420,000 150,000
[ 75,000
Al 75,000
== 420,000
301 LBHEXZ 570,000 420,000 150,000
[ 75,000
Al 75,000
== 420,000
02 ARI2EEA52(HLAHS, XLMR) 570,000 0 570,000
OMASS AYLEE 2 I QYTEE XY
570,000,0008 14! 570,000
[ 75,000
Al 75,000
== 420,000
[E N ENEEESEEP N 150,611 139,986 10,625
[ 7,500
Al 67,500
= 75,611
307 212+l 150,611 139,986 10,625
[ 7,500
Al 67,500
= 75,611
10 ABISXALEHSAHIE X 150,611 139,986 10,625
OXIHABIEEE M 2RI 131,611
pucitalsl 121,611,000 % 14! 121,611
[ 7,500
Al 67,500
= 46,611
— A4 22| 10,000,000 %1 A! 10,000
= 10,000
OSHE NAAEIBEEOH X
19,000,000 %14} 19,000
= 19,000
(£)J=ZECcH3 1 27,163 30,000 2,837
[ 2,400
Al 9,600
= 15,163
307 2I2+0| A 27,163 30,000 2,837
[ 2,400
Al 9,600
= 15,163
10 AFRISXIASYE 2SHI 2 X 27,163 30,000 2,837




2AM:

K ZH

SAEH

FHAAHE XIA(A

el =X/ HAAHEXR)

ol FHAAHSK (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OJ|=ZCw 28 &
27,163, 0002 14! 27,163
& 2,400
Al 9,600
= 15,163
()H2 TSI 25 XA 25,000 25,000 0
& 3,500
= 21,500
307 2I2+0| ™ 25,000 25,000 0
= 3,500
= 21,500
10 ASISAANEHE2EEIEX 25,000 25,000 0
OHNTHA 25 X
25,000,000 %10 2~ 25,000
= 3,500
= 21,500
SXZOIAMEI S RQAQIHHIXIZ (M EAL) 992,640 885,025 107,615
301 LBt2NS 992,640 885,025 107,615
10 NBISRRE2HS 992,640 885,025 107,615
O=T2OIEEL2HZ0] AR
1,034, 0002 *80 2 * 122 992,640
(Z)ALBIST2AtIZEIAI2E X2 67,200 60,000 7,200
= 20,160
Al 47,040
307 212t01 ™ 67,200 60,000 7,200
& 20,160
Al 47,040
10 AlRIS XA EEE 2SI 2 X 67,200 60,000 7,200
OABISTIZ ARZRIA SYRI
67,200, 00024 14! 67,200
& 20,160
Al 47,040
(Z)MBISXRIANESA RS 35,280 35,280 0
= 10,584
Al 24,696
301 Et2dS 35,280 35,280 0
= 10,584
Al 24,696
02 AR 2ZELFS(FHAAS, NLEWE) 35,280 0 35,280
OARISXIAIE SAHR =2
140,000 *21E« 122 35,280
& 10,584
Al 24,696
Aol AdsE XIE 12,000 12,000 0




2AM:
X{XH -
o /e

cH):

SAEH
FHAAHE XJ(ARIEX/FHLHESXIH)

oD SN2

HEE

2A - HH . H(SH) - MRAIY - BES Ol AkoH Ol AFon Hlnsz
301 YEIEES 12,000 12,000 0
02 AR BEESH2(FLHS, NS 12,000 0 12,000
OAFQ| HUS2 XA
12,000,000 14! 12,000
(S N==Yo[G[ES 105,709 0 105,709
z 84,567
[ 10,571
Al 10,571
201 LEH2AH] 3,000 0 3,000
z 2,400
[ 300
Al 300
01 AFR2t2IHI 3,000 0 3,000
OLMESMHIA 2|
3,000,000 14! 3,000
z 2,400
[ 300
Al 300
307 @120 & 102,709 0 102,709
z 82,167
[ 10,271
Al 10,271
05 QIZIRIErS 102,709 0 102,709
OgassMHIA 102,709, 0002 %1 Al 102,709
z 82,167
[ 10,271
Al 10,271
(Z)BEABSXABSAAIEXZIEX| 2,100 0 2,100
[ 630
Al 1,470
307 I2t0|® 2,100 0 2,100
[ 630
Al 1,470
P ENEEES 2,100 0 2,100
OAIEIEXAIESAIIEXZLIEX|A
100,000 %21 2,100
[ 630
Al 1,470
(D)MHPSII2 223725 XA 50,000 0 50,000
[ 50,000
302 0|2 HTHEB A 50,000 0 50,000
[ 50,000
02 QIZroITsHY BRE s A2 50,000 0 50,000




A SN

M FHAAS A (MII=X/FHLHEXA)

ol FHAAHSK (cro): =2l
2A - ZH - HA(S) - MRAIY - BES Ofl &k oK %Ei HusSZ
ONai+201= S=+3Hl XA
50,000, 00024%14! 50,000
[ 50,000
MASE dEHE N2 (ARISA/IIZME2H) 2,556,706 2,816,081 A259,375
= 1,870,449
z 81,082
= 142,342
Al 432,833
= 30,000
KHE ALY 2,556,706 2,816,081 A259,375
= 1,870,449
z 81,082
= 142,342
Al 432,833
= 30,000
X&22 A 12,770 12,350 420
201 LEH2 S 11,960 11,540 420
01 At22telH| 11,960 11,540 420
OS=XAT2HE AR AXt2 X
880, 00081+ 122 10,560
OXEI|I 2SR A ¢
100,000 *7H*22] 1,400
301 LEENS 810 810 0
11 HAIAHIXIRS 810 810
OXE Alatal FA0H
90,0003 *9H =1L 810
(R)XE2Z2AHY 1,521,404 1,517,851 3,553
= 1,217,123
[ 60,856
Al 243,425
101 Q244 180,000 180,000 0
= 144,000
[ 7,200
Al 28,800
04 JIZH22NSE= 180,000 180,000 0
O22RXAE, SXER0l ANEZZAHY 12|
750,000& 20123 180,000
= 144,000
[ 7,200
Al 28,800
206 M=zt 1,800 1,800 0
= 1,440
= 72
Al 288




2AM:
7<‘| il—l:
S

ABISXI/ I ZMEEE)

 LRE-C R

SHRASA) - MIRAIY - BES

dEE
Ofl &b oK

01 =4l
O22RXE &2

100,000& #1812

Mo

=

1,800

1,800
1,440
72
288

1,800

307 212+0|&

Mo

1,339,604
1,071,683
53,584
214,337

1,336,051

3,553

ONMASE HEZZAMY =29

1,339,604,00024% 14!

Mo

=

1,339,604

1,339,604
1,071,683
53,584
214,337

1,336,051

3,553

Mo

=

W

340,591
217,414
27,953
65,224
30,000

326,566

14,025

307 212t01&

hoH

=

4

340,591
217,414
27,953
65,224
30,000

326,566

14,025

10 AlISXAEEE2SHIE

OXIZAEHYH 28 XA

X

il

340,591,000& %10 2

Mo

=

m

340,591

340,591
217,414
27,953
65,224
30,000

326,566

14,025

()XExtE

S A MHIAE XA

(JIARIHEI 2R

40

)

SRR

=

101,352
81,082
10,135
10,135

133,352

32,000

307 212+0l&

SRR

101,352
81,082
10,135
10,135

133,352

232,000

101,352,000 14!

101,352

101,352

133,352

232,000




S =SREA
M MASS MEOHE XA (AIBISXI/I|I=MEEE)
el HEAY CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
s 81,082
& 10,135
Al 10,135
() NS REHE B A== 10,080 10,080 0
= 3,024
Al 7,056
301 et Z 10,080 10,080 0
= 3,024
Al 7,056
02 MBI BEEGZ2(FILAHS, XLHA) 10,080 0 10,080
OX SR SARE =
140,000 6 * 122 10,080
& 3,024
Al 7,056
(T) NS S SAISHIXIA 25,000 25,000 0
= 7,500
Al 17,500
307 212t01 & 25,000 25,000 0
= 7,500
Al 17,500
10 AFRISXAEHE2IHIEE 25,000 25,000 0
OX2edstAtgdl I
25,000,000 * 12 25,000
& 7,500
Al 17,500
(Z)2EsBUeraz g2 XA 544,909 0 544,909
= 435,912
& 32,694
Al 76,303
307 212t01™ 544,909 0 544,909
= 435,912
= 32,694
Al 76,303
05 SIZtRAEZ 544,909 0 544,909
O2zsAJU=+2 2SR (AL AY)
544,909, 000& 14! 544,909
= 435,912
= 32,694
Al 76,303
(D) XS TNEMESASE K ZIER A 600 0 600
& 180
Al 420
307 212t01™ 600 0 600
& 180




2A:

SAEH

HIM: NASE MO X|R(AEISX/ I ZHSLH)
= KA AL (Ctol:®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 420
11 ABIEXAIRIER 600 0 600
OXI R EMEIZAIRHE X ZOIEX| 2
100,000 +6% 600
[ 180
Al 420
222 He(MBEX/E2) 3,711,617 3,944,079 N232, 462
[ 682,730
Al 1,966,287
= 1,062,600
EERENE 3,711,617 3,944,079 N232,462
[ 682,730
Al 1,966,287
= 1,062,600
2SS0 2 Ald22] 585,087 685,679 100,592
101 QI24H] 2,367 2,309 58
M IIR22IEES 2,367 2,309 58
OZEg &FFH 8
9,860 * 1 =4 A 2H60L 2,367
201 LB A 69,340 76,240 28,900
01 AF22t2IHI 35,900 35,300 600
OSECH AIRA AXt2 X
300, 0002 *5IH EHI |+ 1224 18,000
OSAL (2842 FH
4,500,0002%23] 9.000
OSSAL(Z2E)dIIY A2
200,000 *20H 4,000
OBEAL R AZEH|
50,0002 %103 500
OHERSA /T HIZ 55,0002%807| 4,400
02 2229 11,440 6,440 5,000
Oz 8322 120,000 % 12 1,440
O2&3|12 2 SFSAIE HHl ||
10,000,000 14! 10,000
03 BAL2H| 22,000 34,500 A12,500
OZEY FEEA 11,000,000 %1 A! 11,000
06.25 AL 9,000,000 %14l 9,000
O=&E A s0t4 2,000,000 %14 2,000
206 XHEH| 1,000 1,000 0
01 TH2H] 1,000 1,000
OSSAIL SHTHIR JH L %E 22
25,0002 10543 1,000
301 YEHEAS 117,080 98,630 18,450
11 SAIAHIXIR S 101,080 98,630 2,450




2A:
T ZH -
o /e

chel:

SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
SEETIENEL] 14,000,000 %14l 14,000
06.25 AL ZH 10,000,000 %14l 10,000
OZ=EE QI 204l A

1,000,000 % 14! 1,000
06.25 ZI|IME ALK Z2H ZH|
3,000,000 % 14! 3,000
OBESAL 23 &HA 0]
90,0002 %32 2,880
052250 o 22X ZH{(224EH)
90,0002 %1602 *13] 14,400
OBEUAX MEX| =2ll(2E4EHH)
90,0004+ 160213 14,400
OZLHEAL =2 2 OHEOAl SN (HFEH
= FSHNET)) 90, 00021460 * 13| 5,400
06.25 #ELTA =2 L OIHoJAl HRNS
(6.25HXRBXE) 90,0002 %1002 *13] 9,000
OO0[=5= 81 UBHH| AL
90,0002 4513 4,050
OYZAIEZ0I3| OB DE
90,0002 * 1602 *13] 14,400
O==3 M =2
90,00024*30H*23] 5,400
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